ENGLISH

pirections for Q1 to Q16: Choose the correct
wu'mmmm

be something wrong.
shall

(D) ought

Ql. | felt there
[A) must
(C) have

(2. The teacher asked the students 1o

the corrected answer sheets.
E-pwer

. (B) go ahead
- (C)goout (D} go into

_ @3. Rohit wants to change his seat __he

cannot see from here.
| (|A) however (B) when
4C)Because (D) yet
Q4. You look worried, Sameer. What yau?
{A) was troubled (8) is troubling
U;.Hfa_-lhle (D) will trouble
Q5. The earth is thicker at equator.

(&) a (B) an
o {Chthe Uﬁln article
_@6. Llearning grammar can be
. interesting task.
(A)a
o 8] an
‘ (C) the
» (D) No article required
. - \ _
f' a7, | have visited farms which grow
1 paddy.
(A) a large area of {B] much
(C) little Tome
Q8. The leaping of dolphins was fun
o watch.
(A) army .{ﬂ'} school/pod
(€} colany (D) nest

(3)

s she going to be late for
the n?
_,.Km (B) Has
(C) Be (D) Does
Q10. Deepak is a healthy boy, He falls 0.
{A) aften seldom
(C) always (D) usually

Q11. Mom: Hari, have you posted the letter?

Hari: | already it
(A) will, post (B) am, posting
{Cyfave posted (D) did, posted

Qi it iz dusk, the cows return,
(A) While (8) Though
When (D) Therefore
Q13. a bandh today. ___ there
any cars on the street?
(A) its, Have, seen [B] It's; See, BOINE
(C) Its, Were, running \_Lprﬁ Are, moving
aila. | a shirt that

me mare than this . because that was

of a better guality.

{A) Once, bought, cost, one
Mﬂﬁ, baught, costed, ane

(€) Once, brought, costed, shirt

(D) Once, brought, cost, one

£15. The director the actors to play
the lead in the mavie tomor row,
(&) will be auditioned
~Li#f will be auditioning
(C) shall have audition
(D) shall auditioning

Q16. Dr Mukesh Chandra, who i a big name in
cardiology,
two years ago.
(A} has inaugurated
(C) had inaugurating

our nursing home

(B) inaugurates
inaugurated
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a1z Anita had fever, she didn’t
go for the picnic.
(4) Nor <iB)sihce
(C) And (D} Still

mmmmmmmm

synonym of the given word:
[A) Assign 2) SUaggt--.
Q19. Obscure .
{A) Plain (B} Open -
J_gfinnmmg (D) Bara
020. Extinct \
.wpz;d (R) extant
(C) fiving (D) existence

'Whﬂumﬂ:m“ethemm

murm given word:..
=
<(A¥Spurious. {8} Suspicious
{C} Sarcastic (D) Certan
{A) Horrid [B] Gentle
(C) Foul m:;ul
Q23. Exhibit _ 3
(A) Conceal 48y Uncover
{C) Change (D) Display
Directions for 24 to 25: Choose the correctly
spelt word:
Ingeneous (B) Ingenous
{C) Inginious (C) Ingenious

(4

Q2s.

(A) Patronage (B} Partonige

(C) Patornage (M{ﬂnfm;!
Directions for Q26 to 30: Read the m
passage and answer the questions by choousing
the most appropriate option:

Tools and Weapons in Meolithic Age
One of the remarkable achievements of the

; Neolithic Peripd was the invention -gf wheel. It
E;UEMWM The wheel
:.r; used in mam_mﬂlmkiﬂm_lﬂ[-
helpeﬂ fan a lot {o nga. Therefore,
mmrt ber:amumn_ms_wlg.,
quick. Thewheel was also used for spinning and
Mn also helped in _potiery, Man made
beautiful pots to keep fpodgrains and store

water.

The tools and weapons of the Neglithic Age are
petter and sharger than the Palaeolithic Age
Mo, “mm__s_u.m_uﬂ.ﬂ.d_.ﬂ, was used to
make fogls Some new developed tools like
cickdes. bows and arrgws and improved JXPSWETE
made in the Neglithic Age. These taols were used
for various purposes hke, the sxe was used for
cutting down trees, sickles to harvest the crogs

L

and arrows tohunt animals:
026, ' What was the most significant discovery of
J‘r_:;}ml-:!hlc Parind?
AT invention of wheel
(B} Sharper tools

(C) Axes for cutting of trees
(D} Horse-caris

027. How was the invention of wheel useful in

storing food grains and water?
. n used wheels in carts to carry food

grains and water,
(B) Man made sacks by using whesl:
spinning thread and stored food grains
them.
{C] Man made pols with wheel and stored
food grains and water.
(T} None of these
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Q28, What was the difference between tools of
the Neolithic Age and Palasolithic Age?.
lkf Neolithic tools were sharper and better,
(B) Neclithic tools were made of rocks.
(C) Neolithic tools were more easily made.
(D) There was no difference between the
two.

029. What was celt?
(A) Celt was an old weapon.
(B) Celt was a sharp weapon.
.(d Celt was a polished stone used to make
tools. -
(D) Celt was a polished weapon used to cut
the trees.

Q30. In which age was man more adym the
Palaeolithic or the Neolithic? "
(A) The Palaeolithic Age '

87 The Neolithic Age &
(C) Equally advanced in both the ages
(D) None of these L

Directions for Q31 to 38: Head the following
passage carefully and use corres ’opﬂ'ﬁmtu
answer the questions thatfollqw" T 2

Fruit flies are tiny insects that are attracted to
ripe or rotting fruits and vegetables. The flies not
only eat the fruit, but they also lay their eges
there. A single fruit fly can lay up to 500 eggs on
the surface of a piece of fruit. Within eight days,
the fruit flies that hatch from these eggs are full
adults that can then lay their own eggs. As you
can see, what might start out as a srr_lail fruit fly
problem can become very large, very quickly.
Although there is a chance that fruit flies can
carry germs on to your food, this is not very likely.
Fruit flies are annoying, but they probably will not
hurt you. Because they are such a nuisance, most
people want to get rid of these pesky bugs 2s
quickly as possible. Some people use pesticide
sprays on the fruit flies. Although this will kill the
flies, it will also spread harmful poison all over
your kitchen.

(5)

Q31. Why are fruit flies so called?

(A) They live in only ripe fruits,
_[B] They prefer to eat only rotting fruits,

(C) Their young ones grow on fruits,
(D) They thrive on fruits.

Q32. Asingle fruit fly can lay upto
(A) 5000 eggs in every fruit.
(B) SO0 eggs under the fruit.

JG¥S00 eges.

(D) 500 eggs per week.

Q33. It takes about a week
{A) for the fruit flies to lay eggs.
(B) for the eggs to hatch.
.],ﬂ'_f_qr the hatched fruit flies to grow fully.
(D) for the hatched fruit flies to eat the
fruﬁ..

= K

Q34. Most people want to get rid of fruit flies
because
{A) they spoil the food.
the',r consume the whale fruits.
ﬁ they.carry germs.
DY they annoy people.

Q35. It can be understood from the passage that
the'best way to get rid of these fruit flies is
1o
[N leave the fruit uncut.
Mep the fruits covered,
(C) sprinkle pesticide on the insects.
(D) Sprinkle pesticide outside the kitchen.

Directions for Q36: Choose the correct options:

Q36. Rearrange the jumbled word.
WEJEEYLLR
1 253456 7 80
(A)321987654
—{BY321478596
(C)896321457
(D)754132698

JE
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Directions for Q40 to Q43: ¢
: Choose the ¢
adjectival phrase from the options given he|;:ct

sentence that have been
make meaningful sentences: Q40. While | was walking in the ’
option. L garden, | say , i
yacth (AR butterfly. |
. SRR (A) coloured brightly i
e A entered the shop: i GOGEL ~{BMBrightly coloured b
8. of » theatrical company SR e aid (C) bright colours %
C. the invisible man i LR (D) brightly colour "
D. for clothes. WEnE SLULE al
‘ Q41. Sam went on a journey across re
(AJABCD "t the mountains. pé
(B)BACD {A) longish and ardently =
(QADBC i, (B) long and short to
19[2_‘ ABD ong and arduous Sc
: (D) long or arduous i
Q38. L
A. Ate delicious seafood in the Q42. Shivu is singing a song, o
French restaurant (A) A song has been being sung by Shivu.
B. and cooked meat song is sung by Shivu.
stones outside (C) A song has being sung by Shivu.
C. we played sports slo (D) A song is being sung by Shivu.
Q43, They may win the battle.
; (A) The battle may be win.
(B) The battle may be won. Q46
_{CAFe battle may be won by them.
(D) The battle may won.
Directions for Q44: Fill in the blank with the
correct option: Qa7
Q44. My sister has to travel abroad for work she
wants me to look after her two-year-old
daughter in her absence. | will be picking 4
my on my way home fro™
work today.
—{oyfiece (B) nephew )
(C) sister (D) cousin ‘
) Q48. v
‘ (
N

> ; s.\1/2025° %
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Directions for Q45 to Q48: Read the passage ang
answer the questions that follow:

Every year large numbers of plastic bottles wash
up on the beaches. However, this problem can be
solved if the new plan is brought in, as suggested
by the scientists. In the- new scheme, fishermen
will be encouraged to round up plastic bottles
with their fishing nets. They can then sell these
and cash in on the rising price of old plastic. The
recycling centres can then turn toxic waste into
packaging. Scientists believe, this scheme will
compensate fisherman for the loss of income due
to more and more people turning vegetarian.
Scientists aim to bring in this scheme soon before
the fishermen are forced to sell their boat«.

Q45. What does, ‘bottles wash up on the beach’
mean?
(A) Bottles are washed on the beach.
(B) Bottles are left behind by people visiting
the beach.
(C) Beach is washed by the bottles.

[D¥Bottles arrive on the sh‘ﬁi‘é_._ ied by

the waves. i

Q46. Old plastic is made into useful things in a

(A) fishing net. -‘[BI} ﬁnj:ie,ﬁlc'aiab.'
recycling centre. (D) beach.

Q47. What is the new scheme?
(A) Fishermen gather plastic bottles and sell
them.
(B) Fishermen encourage scientists to use

fishing nets.

(C) Fishermen are encouraged to make a
circle with the nets.

D}-Flshermen use fishing nets to make
around bottle,

Q48. Which word in the second paragraph means

‘changing habits'?
(A) Compensate (B) Forced
rming (D) Income

(7)

Directions for Q49 to Q50: Choose the noun for
the home of the given animal:

Q49. A of an ape.
(A) barn (B) den

(gl (D) nest

Qs50.A - ofadove.
(A) roost -Hﬁ:nte

(C) nest (D) burrow
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Q51. Which country is known as the “Land
Rising Sun"? .
(A} China (B) South Korea
(C) Thailand JB)’Japan
Q52. Which ocean is known as the “Herring
Pond"?
(A) Indian Ocean ,(p(;ﬂanti:_ Ocean :
(C) Pacific Ocean (D) Southern Ocea
Q53. Which ocean is the Bermuda Triangle
located in?
lﬂf Pacific Ocean [ﬂ} m@man
(C) Arctic Ocean L. Ocean

Q54. Who is the current Preiﬂﬂiﬁiﬁhe United

States? s
-(.ﬂffDunald Trump at ]
(B) Joe Biden L
(C) Barack Obama Pl

{D) Kamala Harris =

Q55. Which country hosted tﬁem Olympic_

Games?
(A) United States ’iﬂ‘/ﬁ‘alﬁv’
(C)Japan {B}ﬂnuﬁ 3

G56. Which Indian space mission recgntiy
explored the Moon's muthpoia
{A) Mangalyaan B N
(B8] Chandrayaan-2 Al R
(C) Gaganyaan
JP Chandrayaan-3

Q57. Which country won the ICC Men's Cricket
World Cup in 20237

(A) India JD/Mﬂ:raEla
(C) England (D) New Zealand
Q58. Which country recently |e
Union? et
(A) Germany (B) Italy
Fr;
ance (D) United Kingdom

L KNOWLEDGE

(8

Q5. o 2 1 o T oY g F W &

3 ass.
Ay (B) 2w T
(C) aréds (D) TR
QS2. - | WA BT AT F A # Ay b
(A) fo= wEmET (B) 3wl memrm Qso0. \
(C) ST HETARR (D) et wreremm j
{
Q53. wrgeT gl e weTaTT | fem i
{A) Iiq HETHITT (B) f&z memmmm
() EREEER (D) s o :
(2
Q4. T = srfEE & T g # § (c
(A) EFTEE 27 i
By s fza o
(C) 3T =M (A
(@) freT o (8)
cr
: \ (D)
Q55. 2024 S Tl S HeEr T ot 4 H
(A) 6o U9 sl - (B)E Q63. Whe
(C) ST (D) =it (A)
By
Ll {C)
Q56. T #1 1 Te STl i e 3 = = 2 D) ¢
Rl A CUESHIEIR
(A) FETIE Q64. Who
(B) T=4H-2 Julie:
{C) T ‘[:]1 ¥
(D) ©iZaH-3 ‘-rt.ﬁ?w
057, 2023 7 1CC g Tz v #ow e 3 A sftar! (D) Le
(A) M (B) Segfer E
(C) $¥E (D) EheIE L
(A) Nig
T! '“:; Sot
QS8. BT 8 3 e w1 g g § 7 81T
(A) it (B) el 166, Whati:
(C) Wid () g2 P land ar
{A) Mo
JCH7at
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Q59. Which country recently joined the BRiCS

group?
(A) Argentina %h{udi Arabia
(C) Canada (D) Australia

Q60. What is the name of the famous electric car

company started by Elon Musk?
(8 éesla (B) Spacex
(C) Blue Origin (D) Amazon

Q61. Which planet is the largest in the Solar
System?

I[l'_tl Earth (B} Saturn
(C) Neptune upﬁir '
nCiN
Q62. What is the name of the first man to step on
the moon? ety )
(A) Buzz Aldrin =5 TET
(B) Michael Collins
{Cyfieil Armstrong Y IR
(D) Yuri Gagarin sz g
e
Q63. Who was the first Indian woman in'space?
(A) Kalpana Chawla
nita Williams
(C) Valentina Tereshkava |~ | |

(D) Sally Ride

Q64. Who wrote the famous play “Romeo and
Juliet”? st |
(A) Mark Twain
(B) rles Dickens
William Shakespeare
(D) Leo Tolstoy

Q65. Which African country is famous for its

pyramids?
(A) Nigeria (B) Kenya
(C) South Africa _Dré£

Q66. What is the smallest country in the world by

land area?
(A) Monaco (B) San Marino
JCHftican City (D) Liechtenstein

()

QS9. 11 8 ¥ 7 w1 3w forwes e wnfirer wam
(A) SFHHAT (B) 9341 300w
(C) FiveT (D) siretferan

Q60. TFH HE BT IF F1 T Uitg sl W e

e &7
(A) =T (B) TETHH
(C) == HATHF (D) 3

Q61 driee § 5 9 TR I e
(gl (B)
ﬁg:f-’l'ﬁfii; (D) Fewfa

b £e
(B) e e
(C) e Frpfezim
(D) i e
"
063 Siaive & 51 Frell vaelt v Afee F o
(A) T

(&) e

DR

(&) 7k 237

(B) =rew &5

() fafermm srwafim
(D) el Zieeia

Q65. F1 =1 3hreh! 237 3o ot & oo afig i

(A) ST (B) =
(C) gfea suhrE (D) firat

Qe6. EaFa F1 3 & e v S A AR W R
(A) ST ()&= Afen
() afewa fadh (D) femesd
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Q67. Who was the first woman towinaNobel
Prize
arie Curie SESlT.
(B) Mother Teresa. .
(C) Malala Yousafzai
(D) Rosalind Frankiin O

QB8. Who is the author of the
series?
(A) J.RR. Tolkien
(8] CS. Lewis
tq ﬂm SR
George R.R. Martin

Q69. Who is known as the “lIron Man ¢
(A) Mahatma Gandhi

(B} Subhas Chandra Bose

(C) Jawaharlal Nehru
«DY¥’Sardar Vallabhbhai Patel

£

Q70. What is the largest desertir the world?
Sahara
(B) Gobi
(C) Kalahari
(D) Arctic

EI;?LWhat isthe h

mw B)jron,
mmhmenan\a , ‘ .

curﬁuiarsamun?
ﬂwww i
(C) Whirlpool
(D) Sombrero
R LRI S
Q73. What is the lﬁhﬁamm Indian cinema?
(A) Gramaw!m el

(B) Oscar Award
(C) Bharat Ratna e
pyadasaheb Phalke Aww

(10)

Q67. it e st el e fien 3 iy

(A) &t gy o
)T REr i
(C) W gwas (B) N
(D) imfeis Saferr qu
(CIN
(D) N
Q68 " diter sjmen ¥ daw #

(A) 3 AR, e a7s What
(B) . i (A) Ea
(C) 33, Tafem (B) Al

(D) 31l 3 =W, mifds Nege
(D) Pe

Q6. T g gew F AR sy Q76 Who w

(A}maﬂ”’ﬁtﬁ m?
(B) B9 =z 5 wc.:
() FaTETETE e s
(D) ERR Femwrd e oo
Q70. & 1 qad ag Fiream A @ gy e
(A) FERT IZ
{BTW (8) Pads
e _ (C) Pads
¥ (D) Padr
Wl.qﬁmmﬁ_ﬁﬂwﬁmmmm@ V8. What g
(A) EiE ] [Blﬁ‘iﬂl ) W
(C) BRI (D) e ii!';l‘ e
B () Repti
Q72,38 ST T A A & Fere g H res (D) Ampt
e lE.WhuW1
lﬁl‘{ﬂﬂmw Olympic n
® ‘ (A} Saina 1
(O = (B) P.T. Us
{Cllf.'am;m
(D) |
_Maryn
Q73. Tt R w51 e e A &
(A) Il T
(B) SrER JEE
(C) WA T
(D) 2V 1R Wl TR
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Q74. What does the acronym NATO stand fory
Af North Atlantic Treaty Organization
(B) National Association of Trade
Operations
(C) Northern Alliance Treaty Office
(D) None of the above

Q75. What is the largest bird in the world?
(A) Eagle
(B) Albatross

| (DiFﬂm:k

Q76. Who was the first Indian to win a Nobel
(A)C.V. Raman
{Bf Rabindranath Tagore
{q Amartya Sen
(D) Mother Teresa

Q77. Which is the highest civilian award in India?
 yBharat Ratna '

(B) Padma Shri |

(C) Padma Bhushan

(D) Padma Vibhushan

Q78. What type of animal Is a penguin?
(A) Mammal
ofsird

(D) Amphibian

Q79. Who was the first Indian woman to win an
_Dlvm'pkmeda!' 2dal?
() Saina Nehwal
(B) P.T. Usha
() Karnam Malleswari

(= , (11)

LASS-VI/202%

Q74. T2 W Ty
(A) 91 srzeifes 2 srmtmdsee
(B) “erieT GRIfuT St 22 sty
(€) T sremim #2 siifew
(D) 398 & F1d 7

Q75. Fore %1 wad w2 ueht e w @
(A) §Te
(B) 3FegE

(C) Yy
(D) T

Q76 1T TEhTC STt et G AT A 417
(A) H1AT, 7
- (B) e i
(D) HeERE

Q77. IV 1 A= AT Gk e 7
i(a) i
(B T B
(C) w1 3y
(D)9 foprn

Q78. g P e T R &
(@) st
(®) 5t
© st
(D) FH9a=H
079, Seifies 9ea id- Sl Yeel WRdr S 9 9
(A) HIET AT
(B) 9t & I
(C) Foim el
(D) B =
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051, R et st
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(B) Sieiifess meramy

(C) FfT wemmm
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Q85. Which planet is known for its rings?

(A) Jupjter (B) Neptune
ClLEaturn

(D) Uranus
Q86. What is the smallest bone in the human

ek
Femur

(C) Humerus

(B) Tibia
(D) Stapes

Q87. What is the Longest River in Asia?
Ganges River (B) Mekong River
@éangue River (D) Indus River

QBB. Which is the National Animal of lnﬂia?

(A) Elephant (B) Peamt:k
(C¥ Tiger

(D)Llion

Q89. Who was the first man in space?
Yuri Gagarin (8) Neil Armstrong

(C) Buzz Aldrin (D) John Glenn

~qmr & Q80. Which ocean surrounds the Maldives?
- (A) Atlantic Ocean (B) Indian i‘IQ{:ean
~ d@f Pacific Ocean (D) Southern Ocean

$

091. Who invented the telephune‘?'
- JAf Alexander Graham Bel]" h e
(B) Nikola Tesla

(C) Thomas Edison B
(D) Guglielmo Marconi '

o

#
W

I

92. Who painted “The Last Supper”?
(A) Miehelangelo (B) Raphael
~~€TLeonardo da Vinci (D) Donatello

3. What is the Largest Continent by land area?

(A) Africa (B) Eurppe
(C) North America !('B,ﬁ:

4. Which country is famous for the festival of
“La Tomatina”?

exico (B) France
(D) Italy
/207

(13)

Q85. 1 | TE AT Tewtt & fou sim s
(A) FEwfa (B) A7
(©) ot (D) Jm
Q86. WA T H 5ad 1) wed F of 7
(A) $rme (B) fefarm
(C) T (D) B
Q87. ufir i waw et 74t F w7
(A) T 7 (B) #ehi
(C) Tivesh 72t (D) ferg
Q88. WTTa 1 Tt Ty &2
!ff?ﬁimﬂ i (B) 7R
©& | (D) f&e
Q89. @ﬁﬂﬁmmmﬁﬁaﬁqw
(B) et mefegim
(D) S =
1 S 1 TETET S £
(B) féz wemmmr
(D) =faoft FemPR
o s Ry

Q92. "7 ez war frad fafie fm
(A) HIgaE Uset (B) Ua
(C) ferrel = fisft (D) e

Q93. & ) gfE & v ey wenha A @
(A) STH6IET (B) 09
(C) I SR (D) ufivn

94, "= ErATEAT" wiveR & o i |y 29 witg &
(A) AfaEa (B) wig
(C) &R (D) gZ=h
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Q95. What is the name of the proneﬁb'f_
ants produce food? A
- ?;jﬁennlnat_!ﬂﬂ (8) "F'“"-‘!‘-*"'_‘ o
(C) Respiration Akt :. ) l"::ﬂ. Ii-.s
Q96. Which scientist is known hrﬁ'iff{;'f;
penicillin?
(&) Pasteur
(C) Marie Curie
(D) Robert Koch
Q97. What is the has:tmitnf‘ﬂereﬂﬂ" ?
(A) ; (8@
J.C{:::
Q98. Which is the largest lake in
surface area?
{8 Lake Superior
(C) Caspian Sea

Q9s. invented the World Wid
m Berners-Lee

(B) Bill Gates

(C) Steve Jobs

(14)

S I

i 01.
e S
i (D) Wt Hi=pm (c) |

Q96. Wfifufm
& e o 3 e e 02, 1 5
2
(A) 8 e x :'
(B) STefist weifin (A5
(C) ¥ty o2
D) T Fg
1103. Cons|
(C) B (D) ST 2. Adjz
3. Opp
QI8 i A e A Ry Al wad adt shm Ay P
(A sfte (B) fortfean it e
G Bl (D) fiftve i (8)2&:
C1&:
Q99w AT v 1 s Feet e orie.
(A) fr=Fd=t B u
Tl 257, £Df
& 7 T equal to:
(D) § FFTT
Q100. "feTe UEdEE 3 AT ¥ o B &
(A) o W (B) T¢8 =
() TS =TE (D) W 3 A
(A) 902
550
(€) 140°
(D) 165°
95. For a trian
true?
(A) B2 = Al
4B — ac
(€) (-‘lﬁ — A
(D) (48 - 4¢
sgT-D/CLASS VI




MATHEMATICS

s
S i s
Q101. Solve: B76544 x876544
T (€)-1 (s
S\ a
e DR (3 _;) ==, Then find the value of
1
x* +3=,—2
22 -22
:::j{ IBIT
26
T 3

Q103. Consider the following statements:
When two straight lines intersect, then:
1. Adjacent angles are complementary
2. Adjacent angles are supplementary
3. Opposite angles are equal
4. Opposite angles are supplementary

T H 2
e (A) 1 & 3 are correct
G (B} 2 & 3 are correct =t R
(C) 1 & 4 are correct -GT
M B 4 are correct .
Qi04. In the given figure, AC | BD,LCAF =
25°,£DBG = 65° and BF = BA, then £BFE is
equal to:
=&
G
4

(A) 90°
| riese
(C) 140°
. (0)165°

Qﬁﬁ For a triangle ABC, which of the following is
true?
(A) BC? — 4B? = AC?
4848 - Ac = BC
(0 (48— 40) > BC
(D) (48 — AC) < BC

. (15)
5-VI/20%

ﬂ 14876543 XBTG545

Q".“ Bl BTE544 xB76544
(A) ] (B)0

Q102 af¥ x (3~f) =§.'€f?ﬁx2+ﬁ GO
i ;
22 =22
N B =
-I6 26
©= ®)%

Q103. Frafafas Fwt o faam 5t
=& a1 Hteit e Nt ww
I, ATE~ VT B 8
2, S8 107 B B
3. HETE FI A 8
4. TR F 10T W B E
(E) 1 &3qae
(F)2& 388
(C)1&aT?
.P!_,__z_,_,._gmm%

Qiof R Bu W Ry § AC I BD, 2CAF =
25° ZDBG = 65° SR BF =BA, T LBFE
Eﬂ'ﬁl’i

A

(A) 90°
(B) 1557
(C) 1407
(D) 165°

Q105. U fger ABC % fom, Fraforfrm & & s @ v
4]
(A) BC? — a8 = AC?
(B) AB — AC = BC
(C) (AB — AC) > BC
(D) (AB — AC) < BC
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Q106. In the given figure O is any point unt;:
bisector of the acute angle XYZ. The line
is parallelxto ZY. Then AYPOis:

¥ z
(A} Scalene
(B) Equilateral

[Crisosceles but not right angled

(D) Isoceles and right angled 7
Q107. If AB, msA and mZC are given, the
number of triangles tiﬁ}c‘m be constructed

with this data, is - TR T
() gne s
three (D) il

e m

Q108. Out of the fractions E’ﬁ—‘-—* and —

VHJ.’.I ‘
which is the third hlghlu!'.f‘;-"{H 4
A,
M:'- G5
4 g -
[C]; Tl
1 n.*i: r

1o [ G
Q109. The value of X (025038 19;;5};"'

(A)8 ABfa

©1 o3

. 1“nl.'
Q110.The least number which s 2 p&fe& square
and has 7936 as one of its factors is equal

m-
(A) 61054 (B) 246016
Jor61504 (D) 240616
Qlii. fa* =h, b = ¢ and xyz = 1, then value
ofe¥is:
(A)a (B) b
rab (D) a/b
Q112.1fp = 124 then y/p(p= + 3p+3)+1is:
(A) S (B) 7
QA2 (D) 125

(16)

Q106. 2t ¢ srpfa # 0 =R XYZ F wufpmes
ﬂﬁ?ﬁgh‘gmop,zvﬂ;mimaﬂm 2.

Y Z

(A) farmamg

(B) FHTE

(C) Tafamg A gty
(D) GHiZag ST FHio

Q107. ¥ AB, mZA 3R msC Rum & ar za 227 4
e o = et gl o s 2
(A) T (B) A
(© (D) 7=

713t 7has 14
P s are
5 7
LY b (B) i
. 9
Q= ﬂ”}:
1 (12.1)2—(8.1)2 o
QU094 X (0.25)(0.25+19,95) FAAR: Q11e.
(A) 8 (B) 4 ey
(C) 1 (D)3 (
0110, ﬁwd@rﬁm@aftmm
IS 7936 &, 3 fur v - Quz.s
(A) 61054 (B) 246016 ‘f:
(C) 61504 (D) 240616 '
Q118. W
Q'”‘“ﬁr“'=*-b’==mxyz=l.?hc*an'm“" twe
L (A)
(A)a (B) b (€)1
(C) ab D)a/b
QU2 3P = 248 YoGm v 3p 135 T
(A)5 B) 7
(C) 123 (D) 125
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Q113. A fruit seller has a crate of apples
containing one bruised apple for every 40
apples in the crate. If 3 out of every 4
bruised apples are considered unsaleable
and there are 9 unsaleable apples in the
crate, then how many apples are there in

the crate?
(A) s00 .191490
(C) 632 (D) 480

Q114. On Children's Day, sweets were to be
equally distributed amongst 300 children.
But on that particular day S0 children
remained absent hence each child got one
extra sweet. How many sweets were

distributed?
(A) 1450 (B) 1700
J(o% il (D) 1650

Q115. The average age of a man and his two
twins sons born on the same day is 30
years. The ratio of the ages of father and
one sonis5 : 2, what is the father'sage?

(A) 55 years _{BY'50 years.
(C) 45 years (D) 30 years

QU6 Simefy: a1+ [o2« LoD

= (B) =

©% mv}E
Q117. 50 Kg is what percent of 250 Kg ?

5% (B) 15%

(D) 25%

(€) 20%

Q118. Which of the following figure have exactly

two lines of symmetry?
(A) Line Rectangle
(C) Triangle (D) Square

(17)

Qi13. T Gt fagkan & o ¥ F1 v 2 ¥ Rt
gl 40 B9 % oy v woe @9 1 Ak wes 4
wu da1 7§ 3 % Gpht A 78w e @ sf
vt 1 o fehr Ay @ 7 &, A i e dm
(A) 500 (B) 390

(C) 632 (D) 480

Q1 14, = fo=a T 300 =4t § aﬂﬁﬁﬁﬁmﬂhﬁ’r
wHt ol @ 3| fadr B 50 a= sigftas @

“yafen v a1 o it W2 fie e
(A) 1450 (B) 1700
(C)1500 (D) 1650

QUIS. wF st i 3% 4 gt ¥ <t o @ R v
&, ot sl s 30 7 ) e ofve o i ong

5:28, faar it sy FT R
@;g&g& (B) 50 =
maﬁ (D) 30 %
\ h TR Sl ;'-.'-\
102 .4
anpes 4 +[pta -1 D)
w2 ®) 2

E:E% i\ -l'H', (D) %

. B -? b r.:'}
Q117. 50 Teitz, 250 feirm = fen s 2
(A) 5% (B) 15%
(C)20% (D) 25%

QI118. m-ﬁ&mmﬁm@ma
Tand #
(A)TET
(C) Frior

(B) #T
(D)=t
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Q119. A circular road runs around 3 circular
garden. If the difference between the
circumference of the outer circle and inner
drdeisﬂ'm,ﬂ'lenthawidm oftheroadis:

(A)7m (B) ym
7.5m

(C)65m
mzn.ABCDisﬂmnhusanddEF=su‘.ﬁndx:

A B
‘ ;Tf-"‘ -—
0 C LSS -1
ﬂ‘{ 159 200 |
(C) 35° (D)25°

Q121. If in a hostel, food is available for 45 days
for 50 students. For how many days will this
food be sufficient for 75 studerit_;?.}_:

(A) 25 days (B) 28 days
A 30 days (D) 40 days
- =

Q122. If Akshay is as much elder than Vinay as he
is younger to Kartik and sum of ages of
Vinay and Kartik is 48 years, then find the

age of Akshay. | ;
(C) 23 year (D) 24 year

Q123. X can do 20% of a work in a day, ¥ can do
25% of the same work in a day and X, Y and
Z together can do 50% of the same work in
a day. How many percent of work can be

dope by Zin a day?
ol
(C) 15%

(B) 10%
(D) 20%

Q124. The speeds of three cars are in the ratio of
2:3-5. Find the ratio of the time taken by
the above cars to travel the same distance.
(A)15:6:10 (B)6:10:15

0:15:6 (D)15:10:6
M (18)

Q119. U JAIHR ITH ¥ IR AN 0F JAIHR 46 8 3f
Al 3 3 stiafe g9 # R F 99w
Mmﬁlﬁ.ﬁfmﬂm%t
(A) 7HIZ (B) 5 Hit
(C) 6.5H= (D) 7.5 #i=

Q120. ABCD U #aqye & 3R £AEF = 50°. x F19R

(B) 20"
(D) 25°

(A.} ]SI'I
(C) 35

Q121. afz Frft srmana § S0 st ¥ R 45 fFi oF
T I9erek 31 4% view 75 frenfda) & foe B
(A)2s T
(C) 30 T

(B) 28 &7
(D) a0 f&T

Q122 3R wigE, fam 3w @ =21 & R T8 Ffds &
BT & 3R o st aifas HTIw a4 ad 2,

Al S F IW A
(A)21 3 B)29
(€) 2334 (D) 24 9§

QIB. XuwREA 0% TR aFm 8, Y 3dt Fm
25% U fa - WA € 3 X, Y 3R Z feat
FFHFShERFA TR TRt zan @

Forr i foert wlérerer st e < w20
(A) 5% “(B) 10%
(C) 15% (D) 20%

Q124. i =0 #i 7 2:3:5 F w7 B 3 T

mm@mﬁﬁ&qwmmuﬂqﬁm
Hifey

(A)15:6:10 (B)6:10:15
(C)10:15:6 (D)15:10:6
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Qi125.
col
28

Q126. The
perce

(A

(C) 8.

Q127. wi
enten
()75
(c)78

Q128. Wha
shows
() 72

78

Q129. If the
and Q
total r
cities t
(A) 20
{C) 251



Q125. In 1 Km race, the ratio of speeds of two
contestants A and B is 3 : 4. A has a start of
280 m. Then A wins by how many metres?

@faom (8) 60 m
(C) 45 m (D) 65 m
DIR ONS:

Study the following table and answer the
questions (126 to 129) that follows:

umber of entertainment shows (in hundreds
‘held in various cities in a year

Dance | Music | Drama | Standup | Mimicry |
comedy
15 21 24 0.8 0.9
124 |13 26 2 05
52...8 12 0.3 0.2
113 |6 18 1 15
i 17 124 |11 3 04
f 14 105 |98 o7 HOB |

6. The mimicry shows held in city M are what
percent of the drama shows held in city 02
HZ; el B

(D) 95

s

(C)8.5

7. What is the average number of
entertainment shows held incity P2

(A) 756 (B) 262
| 7295 -

(c) 780
3. What is the number of standup comedy

- shows held in all the cities together?
(Lol (A) 720 (B) 700
L (D) 756

" Q129. If the number of music shows in cities N
! and Q is increased by 5%, what will be the
3 total number of music shows in both the

v cities together?
il (A) 2000 8] 2667
LG (C) 2517 (D) 2670

(19)

Q125. 1 Reeinfier i &g #, 2 wfowif A i B o
1 3G 3: 4 8 A % TH 280 HeX A yEsIh

aa 2.1 A R e Sea &2

(A)40m (B) 60 m

(C)45 m (D) 65m
faon-fd
Pretferfam aferat @1 sreaad i A Faferfea wat
(126 & 129) F IE:

v i Farfir rgdt i St SR w6
A (fast i

I / ST
™M |15 21 24 0.8 0.9
N |124 |23 |26 2 0.5
0 |57 |89 |22 0.3 0.2
P 113 6 | 18 1 G s 4.
Q |17 124 (11 3 04
R |14 105 |9.8 0.7 0.1

Q126. LM i i i 1, e O H AR

B arel gy I 51 Faree i @7
(A)6s (B)7.5
(C)y8.5 (D) 9.5
QI27, P ¥mLH HHEISw T At i AT HE
Il Wh = -
i.&)'r‘%a (B) 267
(C) 780 (D) 295

Qiza.wmﬁmmﬁﬁaﬁm_m
it =) v et &2
(A) 720
(C) 780

(B) 700
(D) 756

Q129. 4R N 3t Q Tt # sl =i o e % g W@
& <t i wredt 8 w6 g e free 8t
(A) 2000 (B) 2667
(€) 2517 (D) 2670

SET-D/CLASS-VI/2025-26



Q130. In the figure given below YZ | MN, XY | LM
& XZ || LN then MY is:

L

M X N

.(&{ Angular bisector of ZLMN
(B) Perpendicular to LN

(C) Median of A LMN
(D) Perpendicular bisector of LN

Q131. ABC is a right-angled triangle such that
AB=a—b,BC=aandCA=a+b.Dis
a point on BC such that BD = AB. The
ratio of BD: DC for any value of @ and b is

given by: -L?/
(A)3:2 4:3
(C)5:4

(D)3:1

Q132. The perimeter of a rectangle is 52 cm. How
long is each side if the width is 2 ¢m more
than one third of the length?

(A)4cm & 8cm (B)6 cm &9 cm
(©18ecm&16cm (D) 18em & 8 em

Q133. 1 a + b + ¢ = 0 then the value of

1 i 1 1
a*+b?—c? - p2ic2 g ' giid g3 Is:
4A) 0 571
(€3 (D) 2

Q134. How many numbers are there between
4000 & 6000 which are exactly divisible by

32, 40, 48 and 607 .m/

3

(A) 2
(c)a (D)5

(20)

Q130. 4 ey e fm # vZ | MN, XY || LM & Xz| :

LN @ MY 1 &P 2:
L
Fi Y
M X N
(A) ZLMN =7 Shivfia safmses a1
(B) LN & aad
(C) & LMN it wftas
(D) LN %1 siaaa aafasrsis
Qi3
Q131 ABC v gwsiv fiver @, fat AB = a -,
BC=a3iCA=a+b. BCwusfgDE
TFRE 6 BD = AB. a 3 b ¥ fd it g
fUBD: DC = 391a 41 80 - B
(A) 3:2 (B) 4:3
(C) 5:4 (D) 3:1
QI32. T TR HW it 52 Feft ) afy erd Eialf"uug
T el 20 aferh B A e e et
& {
(A) 4 70t & 8 Bt (B) 6 &t & 9 it (
(C) 1881 & 168 (D) 18 Wit & § a1
Q140. |
Q133. 7 a + b + ¢ = 0 @ Frafafas = o wran’ u
1 1 1
n‘+b’—c3+bt+c3—¢1+n:+ri_b: At
(A)0 B)1
&3 (D)2 Q141.
Q134. 4000 3 6000 ¥ s et Frft wiand & 717 &
(A)2 (B) 3
(€4 (D)5 Qi42. if
the
Jay
()
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Q135. In a fire range, 4 shooters are firing at their
respective targets. The first, the second, the
third and the fourth shooter hit the target
once in every 5 sec, 6 sec, 7 sec and 8 sec
respectively. If all of them hit their targets
at 9:00 am, when will they hit their targets

together again?
(8y9:04 am (8) 9:08 am
(C) 9:14 am (D) None of these

Q136. The number 53129?45%12974 is divisible

n by: b
f Ml B)s
. (c)a (D) None of these

Q137. A chakra has 24 spokes. What is the largest

acutg angle formed between two spokes?
méﬂ (8) 75° |

(c) 85° (D) 45° g

B. Closure property of integers will he valid
for: '
(A) Addition

(B] Subtmcuan
(C) Multiplication :

Y Q139. The diagonal of a squa%is-‘l-ﬁ m“Whﬂt ?5
J its perimeter? .
- S 6m
(C)24m (D) None of these
2140. Find the value of oy

p*Lng i
(A) = (8=

rd (mg

Q141. Ratio of the area of a square to that of the
: square drawn on its diagonal is:
(A)1:2 8721
(C1:3 (D)1:4

'.-42. If xy=6 and x +x*y +xy* +y =63,

then x? 4 y2 is:
3 (B) 55
(C) 69 (D) 81

(21)

QI35. TF WAl & A 4 Rymee sy @ w
Tefiart # @ & veen, geu, dwn sk
FmTS F: U 5 ¥, 6 e, 7 Fs A
§ ¥he H e R ot T v e 8 afz & e
STE: 9:00 & H9 T T T 8, @ A g

U AT A T T el e s 0
(A) 9:04 am (B) 9:08 am
(C) 9:14 am

' (nmﬁﬁm

Q136 =T 58129745812974 Frad s 27 y

GREE ) =lmys

o4 | (D) 79 & %18 78
Ta. “!I.i& = { g |
Qmw&'u?ﬁ%ﬁﬁrﬂma’rmﬁnﬁ#maﬁ

T TR T = F R 27

(A) 15° (B) 75°

(C) 85" _ (D) 45°
Qﬁ&@hﬁ?ﬁmﬁmmﬁqmé\m

Ay (B) T

BTEe (D) ST W

Q139. T i 4472 dhie &) e ahm T &2

{Ajzz:ﬁu (B) 16 iz

(©) 243t (D) ¥ & 1§ 7
Q140. T:*%ﬁ T W A L

W3 ®3

©3 )3

Q141, G 1 % et 1 3aw fvl oo e 3 & dawe

B 3T &
(A)1:2 (B)2:1
(C)1:3 (Dy1:4

Q42 aR xy =6 3 x + x’y + xy* + y = 63,7
+y*®aag:
(A)23 (B) 55
(C) 69 (D) 81
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Q143. A tree is broken at a height of 6 m from the
ground and its top touches the ground at a
distance of 8 m from the base of the tree.

Original height of the tree was:
(A) 16m 10m
C12m (D)20 m

Q144. if @, b and ¢ are integers then associativity
of iptegers under addition is given by:
‘m‘&+b =b+a
Blax(b+c)=axb+axc
Qa+(b—c)=(a+b)—c
Dla+(b+c)=(a+b)+c

Q145. In the given figure, find the values of

xand y: A =
M
A 50 y 1200 :
B C 5 meD
(A) 75°, 60° (B) 95#,_955‘ J
J&f70°, 60° (D) 90°, 45°

Q146. Find out the group of alphabets that have
both horizontal and wvertical ' lines of
symmetry:
(A)X.H,O
X Y.z

BICX T
HpC

Q147. ¥f 35% of a number is 12 less than 50% of
that number, then the number is:

() 40 (B) 50
(D) 80

Q148. Sum of two consecutive even nﬁmbars; the

if:zﬁmo'“'hﬂﬁesquaresisﬁ Is:
(B) 38

(C) 42 (D) 46

(22)

LA

Q143, T Tz Tl & 6 HeT F S W2 I R gy
ey 3 v 3 s & 8 #vet A gl v el
Qﬂ?tlﬁ#ﬁ@miﬂ:
(A) 16 72T
(C) 12 ¥

(B) 10 "zt
(D) 20 HizX

Q4. % a, b 3K ¢ ol & 2 3 stk ot
areadaT 36 TR 4 S 8
ama+h =b+a
®ax(b+c)=axb+taxc
a+(b—c)=(at+b)—c
ma+b+c)=(@a+b)+c

QUAS, fru e o 5, x 3 y T T A

(B) 95", 45"
(D) 90°, 45*

Qldssan At 3 TE =1 o e, Rt e ol
FeaToR, B1R T ST TE

(A%, H:0: (BICXT
y [€) By, Z (D)A,B,C
Q147. af: fordt s 7 35% 30 W6 % S0% R 12 ™
&, il am wEn &
(A) 40 (8) s0
(C) 60 (D) 80

Q148 =1 T WH e w1 A, Faeds it o s s
 § : !
(A) 34
(c) 42

(B) 38
(D) 46

SET-D/CLASS-Vi/2025 %

Q149. 89

(C)2

Q150. Wi

(A) 1

0151. The

(A) €
(8Ls

Q152. Th

whic
(A} 3
iCle

Q153. ¥ ni

(A}
(2B

Qi56. Abo
as th
defin

(B) N
(C) O
(D) O



Q149. 89888+ 4is:
(A)d494
(C) 280.875

(B) 561.75
(D) 2247

' Q150. Which one of the following numbers is
completely divisible by 45 ?

(A) 11560 (8) 331145
203550

(D) 202860
Q151. The largest 5 digit number exactly divisible

by9lis:

(A) 1 (B) 99918

( 981 (D) 995720 + 1
¥ '-p'r:; i

Q152. The difference of the squares of two
consecutive even integers is divisible by
which of the following integefﬁ"“sl‘_'ﬂ' o

(A3 JBia =

(€)6 (D)7

3. If n is a natural number, then (6n% + 611) is
always divisible by : %

(A) 6 only 6 and 12 both
(C) 12 only (D)18only
! . -_-;- o -
MRy Q154. Reduce — to lowest term. -
l ; 17 el ! W 1&5 - | mrall
(A5 18

17
e’ %

Q155. The sum of two numbers s 528 and their
HCF is 33. The number of pairs of numbers
satisfying the above conditions is ¢

(A) 12 (B) 8

1ef (0)

H12wH

' Q156. About the number of pairs which have 16
as their HCF and 136 as their LCM, we can
definitely say that :

(AHviany such pairs exist '

(B) No such pair exists

(C) Only one such pair exists

(D) Only two such pair exists

(23)

w,fzuz!‘vﬁ-

%“‘ '|,t'*:-|'ir"f
A q“\
g

149, 8988 + 8-+ 4 FUHFAET ..
(A) 4494 (B) 561.75
(C) 280.875 (D) 2247

" 150, Pt it & v d e 45 8 i B i

(A) 181560
(C) 203550

(B) 331145
(D) 202860

0151, 91 & vk e 31 1 o gt v B:
(A) 99921 (B) 99918
(C) 99981 (D)9

QI52.21 mmwﬁ#ﬂmmmi%

| Bapisd s .
(A3
(€)6

(B) 4
7

Q153. afk n U SIFE e 3, @ (6n? + 6n) TEE

(A) 6 only (B) 6 and 12 both
(C) 12 only (D) 18 only
e A
Q154 E;mmﬁmﬁ
2 BN 1
e B3
E T R L= D E
3z ( }u

Qlﬁi;mﬂ'ﬂﬂm 578 & iR S TETH BHIGEAS
(HCF) 333 S T ) O T S

Are FIHE &
(A) 12 (B)8
(C)6 (D)4

Qm.ma\ﬁﬁaﬁtm%aﬂﬁm HCF 16 3
LCM 136 &, w e w @ e R &
(A iy g v oo @
(B) Ry i ol e
() e s e v @
() v sz &
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Q157. Simplify
0.05 x 0,05 x 0,05 +0.04 x 0.04 x 0.04
095 x005—-005x004 0.04 x0.0%
)0.01

(B) 0.07
(C) 0.09
(D) None of these

Q158. How many digits will be there to the right
of the decimal point in the product of 95.75
and 0.02554?
(A)5
(8)6

o7

(D) None of these

—

21%0-2% S

Q159. Find the value of ——
(a) =
(©5 (0)

e 7 - =
Qie0. Simphfy. EI; + “—a‘ . Wi
S o
240 262 ri

21014 g9

CF ©) 7%
aisisove: 22x3% G & B W'R
(A) (102)* (8).(108)?
102)* ru;fmﬂ%‘ 3
I '__':"': l] ]
Q162 Find the value of VYO — VB
(A)yZ-1 (8) VZ + 1
~erf3-1 D)V3+1
. Y50+ Vi@
Q163. Solve : N
(A)1
J 2
(c)3
(D) None of these

(24)

QI57. WE &
0.05 x 0.05 % 0.05 +0.04 x 0.04 X 0.04
0.05 X 0.05 — 0,05 X 0.04+ 0.04 x 0.04
(A)0.01
(B) 0.07
(€)0.09
(D) TR A FETE
Q158. 95.75 31T 002554 F V%! § I TXWeA
F 77é si et s Y :
(A) 5
(B)6
O 7.
(D) §98 HHE T8
LT | '
v ity i 2100_ 299 m
Qlﬂ.ﬁnﬁfhammﬁmﬂ 2m+ — ] i
(M‘Zﬁ (B)'; ((y &
©= oL E
4 5 e
. | - 5! i fjm‘ TI
g I me
Qollltmﬁ E-'-_. | .‘. I?“ m
A )— (B)%I' 5 @
— .-'-'T“:ﬂl : BN
QI61. BT FL: 272 % 3% '@ﬁﬁ:
@(1“133 (B) (108)* t l-—
©(102)* ) (108)" A
(a) ¢
Q162. V9 —+/B wmmﬂﬁﬂ- g (C)1
W2 v g ®VZ+1 2168, n
©V3-1" DV3+1 Find
' D
V50+ /18 N\
Q163. AW ——ﬁ—- -.
S GLE Ao |
(B)2 = T
©3 -
(D)0 & g e
(A) 55
(€) 75
ssr—n{cuss-wzm"‘



(Q164. Match the following :
1. Triangular Numbers
2. Hexagonal Numbers
3. Virahanka Numbers

d. 1‘ 2' 31 5, 8; 13' e
b.12,6,3,10,5,16,8,4,2,1
136, 3015,21. s

d.1,7: 19,37, wcuuis
(A) (1,b),(2,a),(3,¢c)
(81, ¢), (2,2), (3, d)
(€) (1: le (21' d}, (31' .al ’-“‘_F C L by L
(D) (1,c), (2,d),(3,2a) =f gFtap
#J *

165. Which number is called 'lr:gprekar
Constant’?

@ylss ©)196
(C) 6174 (D) None of |
! STE

66. The vertex angle of an i
measures eight times the measure |
angle. The measure of base anﬂe is:
(A) 18° 24“
(C) 36°

657. Number of line
figureis :

(A) 4
(C) 10

168. In the given figure AB is a straight line.
Find (x + y) :

D c
mﬂ
y 2x
3x B
105
E
(A) 55° o765’
(C) 75° {D) 80°

(25)

Qmmﬁﬁﬁmmﬁmﬁ%

1. Breprofrr deamt

2. W HeEAd,

3. faEwr e

Ve I B 30 T & R
b.12,6,3,10,5,16,8,4,2,1

¢ 1. 36,30, 45, 205 it :
& 17,0937 b -

A)(1,1),2,9), 3. 9) 3
(B) (1,¢),(2,a). (3, d)
_ (C)U,‘bi, (2, d): (3, 8y yaduriiiog AT A%

, 'ME(D)(I )@ ), (Gim) iz Sus S

'ﬁ%magwmﬁEENW$mmmb
) - (B) 196
(D)Fﬁﬁ‘ﬂﬂ

AT

(B) 8
(D) 11

(B) 65°
(D) 80°

(A)55°
) 75°
SI:'T-D!CLASS-VIHO!SQE



Q169. How many degrees are there in an angle
which equals one-fifth of i supplement?

fA]ISu 300

Q170. Two poles 15 m and 30 m high stand
upright in a playground. If their feet be 36
m apart, find the distance between their

tops.
JJ;Sm

(C)59m

(B)49 m
(D) 69 m

Q171. The perimeter of a circular field and-a
square are same. If the area of square field
is 121 m?. Find the radius of the circle.

Ug 7m (B)14m
(C)Vidm (D) 10.5m

Q172.fa+ b + c = 0, Find the value of

a2l pr . gR

E ca ab
(A)-3 (B}3
(C)-1 )1
Q173. The length of a side of a:Rhombus is 10 cm
and one of its diagonals is Rmmelengﬂ'l

of the other diagonalis: ,
{A) 10 cm ‘(‘() 12cm
(C) 16 cm (D) 8 em
1 = g
Qi74. If 2x == 5, then the value "fm

is:

1
(a3 iﬂé

l 1
(o} (D)3

Qizs. if x +i =Z and x # 0, then the value of

x? +;‘3-is:
(A)1 W2
3 (D) 4

(26)

Q169. & 1 7 fira 31T 81 ¥ o 0% Hymm 3
et 3 ama Ay & T

(A) 15° (B) 30° Directi
(C) 75° ) 150°

® Q176. (

(4

Q170. 15 ¥iex 3R 30 et 3 2 T 0F Bt ¥ gy (€
wEE AR T IR F AT AW 36 fmgy

sk 2l & i ) (

(A)39 m (B)49m

(C) 59 m (D) 69 m mn.(c
A
T

Q171 T TR ¥ st uw o v afeg wam A ¢
anien ReF 1 SFwd 21 A At T HEm @
EIGE A1

" (A)7m (B) 14 m Q173.0
(C) 14 m (D) 10.5m ({:i
Ql72. qﬁ:‘ atbic=0, = efEa s A IE % - j;}
ﬂ:: K et

bc | ca ' ab :
(A) -3 (B)3 Q179. Oc

¥ X
(C)-1 D)1 (a)

(8)
Q173w wEgs 1 v e R wad 0@ (0
e T e 12 a2 g Pt s

(A)10em (B) 12 cm T o
(C) 16 8 -
(‘i 8 Gfi_ (D) 8 cm (A)!
(8),
QI74/8f 2x +— = 5,87 ————mAwt ol
s B) = ©
Ay B
1 1
(C)E (n?; Direction
0181.1,¢
Ql'fs.!rﬁx+§=2tﬁ=xa=D.E’I#Ix’+;';"' (A):
1 2 ()«
2
(& P Q182. 20,
(©?3 D)4 A1
‘eri
SET-D/CLASS-VI/2¥



ion (176-180): Choose the odd one out.

Q176. Odd one

| (A) Stethoscope

(B) Telescope
eriscope

(D) Microscope

77. 0dd one

(A) Ramayana
(B) Mahabharata
JC) Upnishad
P Pancnatantra

78. Odd one
(A) Monsoon
(B) Hurricane

igl(\’clone
Tempest
1179. Odd one

(A) Graphite
(8) Coal

(C) piamond
Pearl

180. Odd one
(A} wave

e

(D) Storm

irection (181 - 185) Complete the series

181. 1,4, 9,16, 25, ?

+5 (A) 35 ers
- (C) 48 (D) 49
' 18182.20,19,17,2,10,5
. (A) 1 (B) 13
L R o135

(27

i s
s
».:::Igl I

35-VI/2057

INTELLIGENCE TEST

e (176-180): fawm =i &)

Q176 el
(A) RHrERy
(B) e=fiehig b 3544
(C) e i |
(D) TEFET *

Qu77.fmm 5 R LA
(A) THmET Iljf )
(B) We™IRd

© i dusigotada & aF DmTRloN. iy
{D)W Yo mot o) -2 5" S

WFEf b !‘lqt.-
u

=
|'I".'

o 0 T s

A §ics

T 1 &(:2 Ir -*o N II‘E.J:.-‘.

ol 2 Yo
frdw (181 - 185) s g w1 <
QI8L. 1,4,9,16,25,?

(A)35 @]35.

(C)48 (D) 49
Q182 20,19,17,2,10,5

(A) 12 ®) 13

(€)14 (D) 15

SET-D/CLASS-VI/2025-26



Q183.2,3,5,7,11,7,17

(A) 1 (B) 13
4 (D) 15

Q184. 144,121,100,81,7
(A) 75 (B) 65
(C) 70 \_@d

Q18s. X0, ?

4&4 (B) PO
[PV (D) PF

Q186. Pointing to a photograph of a boy Suresh
said, "He is the son of the onlysun of my
r." How is Suresh ne1atedtn that boy?
Father
(B) Uncle P
(C) Cousin W
(D) Brother '

Q187. If A is the brother of B; B is the sister of C;

and Cis the father of D, how D is related to
A?

(A) Brother
(8) Sister

AU )

[D) Cannot be determined

Q188. iIntroducing a boy, a girl said, "He i< the
son of the daughter of the father of my

uncle.” How is the boy refated to the girl?
(A) Brother

ephew
(C) Uncle
(D) Son-in-law

Q189. Cup: Lip :: Bird 17
(A) Grass
rest
(C) Beak
(D) Bush

(28)

Q183.2,3,5,7,11,2,17

Q12 (B) 13 Q190. Paw:

© 14 D) 15 WZ‘

(2]

Q184. 144,121,100,81,2 (C) Ele

(A)75 (B) 65 e)7e

(€70 (D) 64 e

QI85. AE, FJ, KO, ? _:: Eocwee
(C) PV (D) PF

QI86. T w7 1 e i i g e g AL
'wﬂﬂﬁ%ﬁﬁ#%&mﬂaﬁ"@nmm
@)
(B) == fa)
(C) == wré
(D) 7§

QI87. afz A, B %7 Wi &; B, c#aﬁtmc@“
a2, D, A ¥ Feg v deifir 87
Ay 3
(B) &ed
() vt (A1
(D) Frativ 7@t frm s wwar @3

Q188. T wigehl 4 UF @15 & Uiaa 3 §¢ F8, :Mnﬂ

Roar & R w i ww s p Lo
foer ST wsifir &7

(A) Wi §on.

(B) Wit
(C) |

(D) BHE

-
-l?,

Q189. W ¥Ta :: wafr :? 3 l
(A) EITH
(B) &
(C) 5
(D) S

{a) (a)
(C) (c)

L
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: aw: Cat :: Hoof: ? -
= Qi90, wam: fareeft o ggt: 7

(A) mb
R LB#‘ZJ'GE (E) W FT o=
(C) Elephant (F) =&
(D) Tiger (G) et
(H) =™

‘Directions for Q191:
In following question, you are given four series om-fEwr Q191:
of questions you have to find out the next series Frerferfiara war #, smmaest wat ﬂmm*"fﬁ.

from the answer figures that follows the ST TR ATFTGT & VA ST A HEAT E AT
sequence of the following figure. Fircfertiar SATRTH 35 SIFHW T FTEOT Hed! €1
: Q1o1,
Question figure Hq@ﬁ
ATOIN V] &8O IH Y
(a) (b) (c) (d) (a) (b) (c) (d)
Answer figure T SR
D% 3 [ @ A | [o] | (=
1 2 3 4
3 &
L gy ® (B) 2
\Ef{ ©3 (D) 4
1 e 92: : ﬁm—f-ﬁvlg 192:
ﬁ'ﬂﬁ owing question has four alternatives, among Frerferfaa wa 7w e 8, fa 3 v Reea ol
© wik i ch one completes the figure. T
Q192
calasallralSas
{a) b ic {d) {a) b} e (d)
L W) b) (A) (a) (8) (b)
| (©) (c) (D) (d) (€) (e) (D) (d)
(29) SET-D/CLASS-VI/2025-26




Q193. If the total sum of numbers on opposite
faces of a cubical block is always 7. find the

ﬁgurewhichiimrrect?

O o i
SRRV
bR T o e
i i

Directions Q194: If a Paper (Transparent paper)
hfuldldinamaﬂnﬂandadﬁliﬂ tutorpm
punched is made. When unfolded this paper
appears as given below in the ansﬂer'fﬂiiuﬂ';-
Choose the correct answer figure given b{n'_lt '.

e

@ B E
-lgz (BB - -

(D) {d)
Q195. One day, Bobby left home and cycled 20
km southwards, turned ﬁghpggﬁd-‘_mqed.m
4 and turned right and cycled 20 km and
turned left and cycled 20 km. How many
kilometers will he have to cycle to reach his

home straight?
(A) 50 km 8740 km
(C) 30 km (D) 20 km

0196. Ajay is to the South of Vijay and Chetan Is
to the East of Vijay, in what direction is Ajay

with respect to Chetan?
(A) North-East (B) North-West
(C) South-West uth-East

(30)

Qm.u&ﬁmﬁﬁiﬁ%faﬂﬂamﬁﬂmﬁfﬂ
T A T T%ansm:raﬁa’raﬁ%?

(A) (B) (C) (D)
(A) (A) () (B)
(€)(Q) (D) (D)

N . | .: :

(A) (2) (8) (b)
Ca\"4 s i (@)
- U8 =t

.3 mj _“.—" _-I 3 ’
Ql‘)ﬁ.uﬁﬁ?jﬁﬁﬂgﬁ ﬁmd‘r{mﬁmam&a#

gt T, 7 75 e A 10 Rl e

() 50 (8) 40 fast
(c) 30 ferft (D) 20 foeft
Q196. v farer 3 wfion 3 & o e forem % it
e e i v fa R ¥
(A) SCg (B) IeCxfim
(C) 2ftgor-ufém (D) =
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Q197. COME is related to EOMC, in the same way

HOME is related to uﬂ/

{C] IPNF (D} FNPI

Q198. In a certain code language, POPULAR is
coded as QPQVMBS, which word has the

code GBNPVT?
(A) FRAMES (B) FARMES
JSYFAMOUS (D) FARMER

A 0199, If in a certain language CHARCOAL is coded
as 45164913 annd MORALE is coded as
296137. How is the word ROCHEL coded in

:hynguage?
694573 (B) 693578 |
(C) 673958 (D) 693857

Q200. If in a certain language CHARCOAL is coded
as 45164913 and MORALE is goded as
206137. How is the word COLLER coded in

this language? |
(A) 397758 Wﬁﬂ
(C) 483359 93376

=l

(31)

Q197. COME 7 a9 EOMC # 2, 26 v#w HOME 51

T 2
(A) EMOH (B) EOMH
(C) IPNF (D) FNPI

Q198. U ffira e W &, POPULAR %1 QPQVMBS
¥ w9 § #ifeq frm o 2, BFm o= W 3

GBNPVT &7 /
(A) FRAMES (B) FARMES
(C) FAMOUS (D) FARMER

199, 21fz et faftra s f CHARCOAL %1 45164913
% =u § #ifzq B s 8 3 MORALE #i
206137 ¥ &7 # Fifea fm s &1 @ W §

ROCHEL ¥752 &1 & St {1 Srem?
(A) 694573 (B) 693578
(C) 673958 (D) 693857

Q200. 3f% u= fférm wmr # CHARCOAL F1 45164913
¥ =1 § Fifea Fea W@ & R MORALE ®t
296137#mi.‘aﬂféafammttmﬂmi

COLLER 8= 1 ¥4 Fifen o smem?
(A) 397758 (B) 497758
(C) 483359 (D) 493376
e ————
L -
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